jktdh;

1 pk

chl 1=h; dk;de&2006
1= 10 3] fdlu fe=
1= 10&3 ixt d&df'% d fy; fhpkb Bfo/kk; & ogn@ekbdk flpkb

I= 1 REcflhkr ekg& ekp rd okiNr ifr'kr ixfr&  A-100% B-80% C-60% ekg&03@2016
do 10 en@dk;de dk uke bdkb \ZE elfld ifr [dfed ifr{miyft/k dk| J.k JkT; e LFku
ifrekr
1 2 3 4 5 6 7 8 9
T |mUkjdkin&
i |fhpu {lerk Ttu&jktdh; flplkb ghV;j 241 15.15 235.35 97.66 B
i |tMi flplb gbV;j 0 0 0 0 0
i [CkNkgh fHpkb ghV;]j 0 0 0 0 0
“kx i+ 241 15.15 235.35 97.66 B
2 |Vgjhé&
i |fhpu {lerk 1tu&jktdh; fIplkb gbV;j 297 0 327 110.10 A
i |fM1 flpkb gbV;] 0 0 0 0 0
i |CkNKjh fHpkb gbV;] 0 0 0 0 0
Skx i+l 297 0 327 110.10 A
3 |ngjknu
i |fhpu {lerk Ttu&jktdh; flpkb ghV;j 464 38.40 464.40 100.09 A
i |tMi flplb gbV;j 0 0 0 0 0
i [CkNkgh fHpkb gbV;j 0 0 0 0
Skx i+ 464 38.40 464.40 100.09 A




4 |(ofj}g&

i |fhpu {lerk 1tu&jktdh; fIplkb ghV;j 6150 0 6295 102.36 A

i |M1 flplb gbV;] 0 0 0 0 0

i |CkNKjh fHpkb gbV;] 0 0 0 0 0
Skx liHi+Hiik 6150 0 6295 102.36 A

5 [1kMh&

i |fhpu {lerk 1tu&jktdh; flpkb gbV;j 114 0 114 100.00 A

i |M1 flpkb gbV;] 0 0 0 0 0

i [CkNKjh fHpkb gbV;] 0 0 0 0 0
“kx biHii+Hiik 114 0 114 100.00 A

6 |[#n1;kxi&

i |fhpu {lerk 1tu&jktdh; flplkb gbV;j 166 102 255 153.61 A

i M1 flplkb gbV;] 0 0 0 0 0

i |CkNkjh fHpkb ghV;]j 0 0 0 0 0
S liHii+Hii 166 102 255 153.61 A

7 |pekyh&

i |flpu {kerk Ttu&jktdn; flpkb gbV;j 92 10 92 100.00 A

i |fM1 flplkb gbV;] 0 0 0 0 0

i [CkNKjh fHpkb gDV;j 0 0 0 0 0
S hiHii+Hii 92 10 92 100.00 A

;kx x<oky e.Myé&

i [flpu {kerk Ttu&jktdn; flpko gbV;j 7524 165.55 7782.75 103.44 A

i |fM1 flpkb gDV;] 0 0 0 0 0

i |CkNKjh fHpkb gDV;] 0 0 0 0 0

7524 165.55 7782.75 103.44 A

;KX x<oky eMy hi+ii+iiik




1 |uulrkyé&
i (flpu {kerk 1tu&jktdn; flpko gbV;]j 1929 59 1944 100.78
i (M1 flplb ghV;]j 0 0 0 0
i |CkNKjh fHpkb gbV;] 0 0 0 0
Skx diii+Hii 1929 59 1944 100.78
2 |mieflguxj&
i |flpu {kerk Ttu&jktdn; flpkb ghV; ] 5430 349 5430 100.00
i (M1 flplb ghV;]j 0 0 0 0
i |CkNKjh fHpkb gbV;] 0 0 0 0
Sk diii+Hii 5430 349 5430 100.00
3 |vYelMk&
i [flpu {kerk Ttu&jkdn; flpko ghV;]j 110 18 110 100.00
i |fM1 flpkb gbV;] 0 0 0 0
i [CkNKjh fHpkb H 0 0 0 0
Skx i+l 110 18 110 100.00
4 |ckx"0j&
i |flpu {kerk Ttu&jktdn; flpkb ghV; ] 143 17 143 100.00
i [fM1 flpib gbV;]j 0 0 0 0
i [CkNkjh Tl pkb gbV;]j 0 0 0 0
Skx i+ 143 17 143 100.00
5 |fiFkkjkx<&
i |fhpu {lerk Ttu&jktdh; flpkb gbV;]J 123 8 123 100.00
i (M1 flplb ghV;]j 0 0 0 0
i |CkNkjh flpkb gbV;]j 0 0 0 0
Skx i+ 123 8 123 100.00




6 |pEikor&
i |fhpu {lerk 1tu&jktdh; flpkb gbV;j 7 1 7 100.00
i |tMi flplb gbV;]J 0 0 0 0
i |CkNKjh flpkb gDV;] 0 0 0 0
S liHii+Hii 7 1 7 100.00
;kx dekA e My&
i |flpu {lerk Ttu&jkedn; flpkb gbV;]j 7742 452 7757 100.19
i |fM1 flplkb gDV} 0 0 0 0
i |CkNkjh flpkb gbV;j 0 0 0 0
“kx deld e.My Li+ii+iiik 7742 452 7757 100.19
;kx fhpkb fotkkx mRrjk[k.M JkT; &
i |flpu {lerk Itu&jktdn; flpkb gbV;j 15266 617.55 15539.75 101.79
i (M1 flplb gbV;j 0 0 0 0
i [CkNkjh flpkb gbV;]j 0 0 0 0
15266 617.55 15539.75 101.79

;kx fHpkb fobkkx mRrjk[k.M JkT; Hi+ii+iiit

LVkQ vi/kdkjh ffu; ku
dr e[; vitk;Urk ,0 foHkxk/;{k




